Lattice 2 by 2

Name:

Use the Lattice Multiplication to solve each problem.

1) 63 x 87 =
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Math

2) 55 x 58 =
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3) 19 x 78 =
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Answers

10.

11.

12.

www.CommonCoreSheets.com

2

1-10 | 92

83

75 | 67

58 |50]42]33]25]17]




ﬂ; Lattice 2 by 2

Name:  Answer Key
Use the Lattice Multiplication to solve each problem. Answers
1 5,481
1) 63 x 87 = 2) 55 x 58 = 3)19 x 78 =
6 3 5 5 1 9 2. 3,190
4 2/,/', 3 2,,,1 12 0/,,” 6//,', 7 3 1,482
5 8 4 31~ 5 5 11~ 71|, 3
4 e a4 lo 7 .7 o e 5841
4 2 1 1170 0 4" 8| 2 4138
8 1 “9 .70 8 " 2 > !
6. 3,888
4) 99 x 59 = 5) 78 x 53 = 6) 72 x 54 =
9 9 7 8 7 2 7. 3,835
4714 S04 S 2,738
5 5.7 5 4 5 0 35170 8. !
8 8 4 2 2 2 /10 7 4 |e 2976
8 171 171 4 8| 8| 8
4 1 "3, 4 8 . 8 o 195
8,526
7) 59 x 65 = 8) 37 x 74 = 9) 93 x 32 = H
5 9 3 7 9 3 5 5,950
3 5 7 2 4 2 10
6 3
3 0. 4 2 1 9 2 7179
2 a4 1 2 1 .10 7
|5 ST 2
8 5.5 7 2 8 9 8|. 6
3 .75 3 8 7 .76
10) 15 x 13 = 11) 87 x 98 = 12) 70 x 85 =
1 5 8 7 7 0
0o .70 . 7 716 5 10 7
o 1 . s o 8
0 1 5 8. 2 3 5 6| 0
0 1 16 75 3 .70 7
,’, 3 L /,/ ,’, ,’, 5
11, 3| 5 5 4 1.7 6 9 5(.7 0
9,75 2 8 5 70
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